
English-high level

Wysoki poziom testu

Poziom trudności: Średni

1. To najwyższy czas żebyśmy zaczęli sami się utrzymywać:

A - It's high time we started supporting ourselves

B - That's the best time for us start supporting ourselves.

C - It's high time for us starting supporting on our own.

D - This is the best time we started support ourselves.

2. Czy Ty myślisz,że on jest chory?

A - Think you he is ill?

B - Do you think is he ill?

C - Do you think he is ill?

D - Think you he ill is?

3. To lotnisko zostało wybudowane 20 lat temu.

A - This airport has been built twenty years ago

B - This airport  has built twenty years ago

C - This airport was built twenty years ago

D - This airport was builded twenty years ago

4. Przypuśćmy,że on by się spóźnił (ale tego nie zrobił)

A - Let's suppose he was lated

B - Suppose he was late

C - Suppose he had been late

D - Let's suppose he were late

5. Zadaj pytanie: HOW MUCH IS THIS PAIR OF SHOES? w formie grzeczniejszej

zaczynając od Can you telll me:

A - Can you tell me how much is this pair of shoes?

B - Can you tell me how much this pair of shoes is?

C - Can you tell me is how much this pair of shoes?
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6. Przekształć zdanie : PETER ISN'T COMING TOMORROW BECAUSE HE HASN'T

FINISHED HIS PROJECT.

A - Jane said that Peter isn't coming tomorrow  because he hadn't finished his project

B - Jane said that Peter wasn't coming that day because he hasn't finished his project

C - Jane said that Peter wasn't coming that day because he hadn't finished his project

7. Th customer ...whether the fish was fresh

A - requested

B - accused

C - complained

D - inquired

8. The cake was filled....carmel

A - by

B - with

C - in

D - or

9. Zdanie  : I should have taken my umbrella : możemy powiedzieć:

A - I wish I hadn't taken my umbrella

B - I wish I had taken my umbrella

C - I wish I took my umbrella

D - I wish I didn't take my umbrella

10. (to) be in labour :

A - rodzić

B - być w pracy

C - być na urlopie

D - mysleć intensywnie

11. W którym ciągu wyrazowym jakieś  słówko nie pasuje do reszty?

A - juice-drink-champagne-liquor-wine

B - eyes-sight-seen-send-eyelids

C - loud-hearing-phones-music-sounds

D - school-teacher-student-tutor-classmate
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12. Prawidłowa kolejność szkół:

A - Upper secondary school->primary school->vocational school->university

B - primary school->lower secondary school->upper secondary school->college

C - vocational school->primary school-> upper secondary school->university

13. Murzyn

A - Murino

B - Darcman

C - Negro
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Karta odpowiedzi

1. A

2. C

3. C

4. C

5. B

6. C

7. D

8. B

9. B

10. A

11. B

12. B

13. C
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